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 Autograph Activity

Definite Integration


	
[image: image2.wmf]On paper sketch the graph of y = x² + 3
Add to your sketch the straight lines y = −x + 3 and x = 3

Shade the area contained between these three graphs

Write down your ‘educated’ guess at the size of this area
	

	
	

	
[image: image3.wmf] COPY and COMPLETE this box  using instructions below:
In the ‘square’ bracket insert the ‘integral function’ found by reverse differentiation.

In the ‘round’ brackets insert the value of this ‘integral’ function at first the “upper limit” (x = 3) and then at the “lower limit” (x = 0)

Finally work out the “value of the integral” 
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	Note precisely how the three stages of working out a Definite Integral are set out (above).  This has been agreed notation for hundreds of years – please do not change it in any way!

	
[image: image5.wmf] Write down each step (as above) for the definite integral 
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	Explain how you can use the value of these two definite integrals you have just calculated to work out the size of the shaded area on your graph.
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	Now is the time to check your answer on the graph plotter
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 On a new Autograph page enter three equations: y = x² + 3,  y = −x + 3  and  x = 3
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 Edit the axes:  x from –1 to 5,  y –1 to 14
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 Select only the two graphs:

y = x² + 3  and  y = −x + 3

Right click to enable ‘Find Area’ and choose ‘Trapezium Rule’. Change the ‘End Point’ to 3 and ‘Divisions’ to 50
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	(Compare the “Area:” value in the Status Box with your answer.
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